+ AR A
107 # & L BRI £ 4 - shit W ik

=~ RN B i

107 # R AR AR S 3094 B9 L4434 A 11%) > 9427 4 (& 89%) » B2
BRA M A EAple o (e § PH{ e O X > Fb A bl ig T 0f o

M- ~103-107T ER&EFH A3 BA P AHBMBIIN BIEENLF

& — 103%:- 107ﬁEA%W3)\jJEEBJEE

250
250 - 230
200 -
150
100
50 - 33 32
0 - |

1037 1047F 1057 1067 1077

1034E 1044 1054 1064 1074F
s, 250 230 233 267 275
r 33 32 36 34 34
FALKB: Ak AE R 1760-01-01-2 3F % S

W= 10T ERRFRFA AP A BUELHP AR5 T3

HEgEELE2 B E EZ2 Huib#



& — 10755 5l B FE b s 1=
200
180 173
160
140
120
100 94 s
80 .i
60
40 25
20 20 00 3 63 0 3
0 —
BE5 e EIE T Bk ZE
=eE fE(E =I1E A =i ZE
95 2 0 94 6 173
E’8 0 0 3 3 25

HEPHOR: AR AE=ERE

W= 10T ERFELFTL I 2L BRBIIP RIENR EEHLENUAF

5
28

B = R F AT E

70 64
60 54
50
37 37
40 35
[ 2
[ 28
6
1 00 00
T L T T 1
Jei25 25729 3034 35%39 40744 45449 50754 55759 60764 650 I
FM25S 25~29  30~34  35~30  40~44  45~49  50~54  55~59  60~64  65LL I
37 54 64 35 37 22 20 6 0
4 5 9 8 6 1 0 1 0

BRI AR AEERH

0
0



We ~107TER T2 2 FA RAPERPE? FREMADEFZLEF T

#14
B 1075 E T
MR St E
300
550 242
200
150 L
100 i
50 31 31
o 4 | 1 1 | e 2 | 1 0
BEZNE s HoAth =k EEERE R ﬁ
EEES S5  HAMESL LEIRE A
B 2472 1 31 1
27 31 1 2 0

BRI AR AEER

WM ITERREREFLA S ABEEERZE2Bui s

B F 107 FZ2 R &E T
[EFlESE =]

140
117
120
100
80 a
60 i
40 30
20 . 9
0

0 .

rhg g AR LI MRLRL e

hIVERRNER BRERE HABE
% 30 128 117
£28 0 9 25

BRI AR AEERR



T AR B A s R st A
107
#Pp H o
g <
Ry BEE 309 275 RVARENCE Y E ISR N R e T
~RTRE 309 275 Mlgrgy. ~TrEREREIEE
105k % 12 + 2 2 Oftogsrs «fzws
LS 2 2 0
i 0 0 0
61 9 % 106 100 EEEERNER 3
E 97 94 3
Bz 9 6 3
SR E LT 201 173 285 e ARz g
i 198 173 25
4z 3 0 3
R E L 309 275 34 e neers o
A% 25K 41 37 4
25 1 29 59 54 5
304 % 34 73 64 9
354 1 395 43 35 8
A0f 3 44/ 43 37 6
455 3 49% 23 22 1
504 % 54 20 20 0
55 1 59k 7 6 1
60 2 64% 0 0 0
65 11 ¢ 0 0 0




Ry Er L 309| 275 B4[ T TREERE R RS
g 273 242 31
z %t 49 46 3
ik 224 196 28
0o 0 0 0
#F 7 2 1 1
® 1 1 0
% | 0 |
B4R 33 31 2
ik A A SR 32 31 1
wEF Ay T 1 0 1
BT E AR T 0 0 0
33 SR E 1 1 0
-RERAL 309 275 VIERS ES N ¥ Y ST
R S 30 30 0
7T 2 2 0
~ £ 20 20 0
Lig g 1 1 0
iz 7 7 0
CE SR Py 137 128 9
LAEER T 116 108 8
R rr 21 20 1
His etk 142 117 )
g 19 16 3
~ & 97 79 18
1 13 10 3
37 () 13 12 1
e (4¢ ) uT 0 0 0




